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GS-1ll Inclusive Growth and Issues Arising from it.
1. For India to gain from its population, the growth story needs to shift from megacities to
Medium-Sized Centres. Discuss
Why this Question?
e Inclusive growth and its impact on economy
Key Demands Of Question:
¢ Need for the inclusive growth and its impacts on the society
Directive word:
Discuss:

e This is another common directive which is an all-encompassing one — you have to debate
on paper by going through the details of the issues concerned by examining each one of
them. You have to give reasons for both for and against arguments. And once all the
discussion is done, a suitable apt conclusion may be given at the end of the answer.

Structure of Answer:
Introduction:

e Highlight the unequal growth story of India.
Body:

e Discuss the consequences of the unequal growth in India like less use of demographic
dividend, environment degradation, unequal employment, increased inequality, etc.

e Explain the need and the benefits associated with the shifting of growth story from
megacities to medium sized centres.

e Highlights the government initiatives in this regard like AMRUT scheme, Rurban mission,
etc.

Conclusion:

e Conclude with the significance of the inclusive growth.
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